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QUESTION 1

Which of the following is considered a best practice for BGP address planning? 

A. Advertising external networks into IGP. 

B. Using system addresses for setting up iBGP sessions. 

C. Exporting the networks associated with the external links of eBGP peers into BGP. 

D. Optimizing BGP route table by exporting IGP routes into BGP. 

Correct Answer: B 

 

QUESTION 2

Click the exhibit. 

Router R6 is a route reflector with clients R1, R2, R4 and R5. Router R4 receives three routes from router R6 and is
configured with ECMP 3. Given the following BGP configuration on routerR4, how many primary and backup paths will
be present in router R4\\'s BGP routing table? 
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A. Three primary paths, 

B. Two primary paths and one backup path. 

C. One primary path and two backup paths. 

D. One primary path and one backup path. 

Correct Answer: B 

 

QUESTION 3

Click the exhibit. 

Router R1 is advertising prefix 192.168.1.0/27 with community "no-export. Which routers will receive an update for that
prefix? 
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A. Router R2 only. 

B. Routers R2 and R3 only. 

C. Routers R2, R3 and R4 only. 

D. Routers R2, R3, R4and R5. 

Correct Answer: D 

 

QUESTION 4

What happens to a route that is rejected by an import policy on an Alcatel-Lucent 7750 SR? 

A. The route is discarded. 

B. The route is kept in the RIB-In, but marked as an invalid route. 

C. The route is moved to the LOC-RIB, but not marked as a used route. 

D. The route is moved to the route table, but not to the FIB. 

Correct Answer: B 

 

QUESTION 5

What is the function of the Cluster_List attribute? 

A. It is used for loop detection within the same cluster. 

B. It is used for loop detection between clusters. 

C. It is used for loop detection in a confederation. 

D. It is used to identify the route reflectors within an AS. 

Correct Answer: B 
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